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J5 fodt 99 97937 Aot § S we yg9’ &1 23 feu 5es T ferer 39T 56 |
=g 0-15 [ 15-30 [ 30-45 | 45-60 | 60-75

o

g9g9d3" 6 8 10 6 4

0 e * 2 _Ow L * ey * oo 3 - -
27 g2 grar feg fom 3q7 <3 fa € € € it (Yfsq) Traz 5 Iwe |

Hag faH mH3T 9399+ feu © o firva € fsgemnia (3, 2) w3 (1, 0) I w3 <& feads
feg ga v g (2, —5) Bug e 916 9% T6 3 gl © S fRvafagn © fagem nig uzr
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7

Hag fea f3gm fme g (v, 3), (4, 4) »3 (3, 5) Ta T U39es 4 =941 fearel 7, 37 x Uz
g |
froag .

1 +tanZA B (1 —tanA)2 A

1 +cot?2A) U —cota) 0

C
HBU3Tdq :
cos 58° sin 22° cos 38° cosec 52°

1 o + o
sin 32° " cos 68° " 4[3 (tan 18° tan 35° tan 60° tan 72° tan 55°)
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YHS Hitmf™ 23 3 30 39 T If9T Yyrs © 40id IS |
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=t €uret 20 7t T w3 fore Guad w3 I3 3 faT € widu for™m gov=g 36 At w3
21 Mt 75 | a9 megfHfen 7 Hs 42 30 Y3t 100 a9 7ot I 37 feg 10 grasdhr wet
TI3 I WBTHIeHH TS IR Uzt ad | vey © fer aH St gres g vinue fegg i |
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e Please check that this question paper contains 8 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.

e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 am. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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(i) T SR E |

(i) FGHHT-TTH 30 J97 8 5 IR @USI — 37, &, TN E 7 [a9ifaa & |

(iii) @IS 3 H QH-Th 3% a1 6 J¥7 & | @IS T H 6 F97 & 19780 G Jeddh 2 3% BT & /
GUS G H 10 377 A~ 3HH] % 2 | @US T H8 J97 8 [774 & Ik 4 3% H & |

(iv) FoT-T7 7 I GFF [dHeT 781 & | TNT 3 b1 qIcT 4 Fo71 4 34 371 11 3 Fo71 F
HTARF [aecq YeT7 1T 7T & | 08 J971 § 3191 130 7T faae4q] 7 & deaeT Wb J97 &1
HATE |

(v) BT B FINT H) AT TG 8 |

General Instructions :

(i) All questions are compulsory.

(ii)  This question paper consists of 30 questions divided into four Sections — A, B, C and D.

(iii) Section A contains 6 questions of 1 mark each. Section B contains 6 questions of
2 marks each, Section C contains 10 questions of 3 marks each. Section D contains
8 questions of 4 marks each.

(iv)  There is no overall choice. However, an internal choice has been provided in four
questions of 3 marks each and 3 questions of 4 marks each. You have to attempt only
one of the alternatives in all such questions.

(v)  Use of calculators is not permitted.

3072

oug - H
SECTION - A

R T 1 H 6 T Th TT 1 b 1 & |
Question numbers 1 to 6 carry 1 mark each.

(AABC) 9
aFc:AABC~/_\.QRPamﬂ—)——ach= 15 9.9}, B 41 PR 19 hifSu |

ar(AQRP) 4

AABC) 9
If AABC ~ AQRP, ar(AABC) — and BC = 15 c¢m, then find PR.

ar(AQRP) 4

I AABC % 3 foig A(5, 1) B(1, 5) @1 C(-3, 1) &l a1 HIEHHI AD ! TFITg HTd
HIfT |

A(5, 1); B(1, 5) and C(-3, —1) are the vertices of AABC. Find the length of median AD.

Q1 1 o T 1 ST 1 : 27 8 | $oh I8 S b1 ST F1d 1T |

Two cubes have their volumes in the ratio 1 : 27. Find the ratio of their surface areas.

w%ﬁ%@ 1 T ) T SR e i s i & R den ¥

Bt R 7

, 24/45 + 3420 L . . N .
Write whether > '\E on simplification gives an irrational or a rational
number.
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I 5x% + 13 x + k = 0 =1 Ueh ol GEL A 1 4ok 81 dl k o1 HH Hd shifaIy |
If one root of 5x2 + 13 x + k = 0 is the reciprocal of the other root, then find value of k.
A x=a, y=bTHHEIT T x —y =2 TTx + y= 4 Th & 21l a TIT b o T 1 T |

If x = a, y = b is the solution of the pair of equations x — y =2 and x + y = 4, find the
values of a and b.

gig -«
SECTION - B

T HEAT 7 12 Teh Yedsh T3 2 b HI 2 |
Question numbers 7 to 12 carry 2 marks each.

¢ A, BaﬁICT{EﬁFﬂG ABC % 37a:3I1 g, a1 fag ST cosec (#) = sec%

. . A+B C
A, B, C are interior angles of AABC. Prove that cosec )
x T y U gk wra-4 1d shifg foreeh fog P(x, y) Tog A(1, 4) @1 B(-1, 2) § 99
g |
Find the linear relation between x and y such that P(x, y) is equidistant from the points
A(1, 4) and B(-1, 2).

fen 2 o 3w sl dwen 3, i fag T fE (2 +43) w6 smfam den |
Given that 4/3 is an irrational number, prove that (2 + -\ﬁ) is an irrational number.

3RBId 1 H AABC H £B = 90° f8H BC = 48 4.1l qUT AB = 14 9.41. 3 | By 4 @
F:gd W1, [T 65 O 8 | 3A=d:9d i 3153l r Ha shifIy |
C

4R |,

r T

N
BO .
14 |,
JATHI 1

In Fig. (1), ABC is a triangle in which /B =90° BC =48 cm and AB = 14 cm. A
circle is inscribed in the triangle, whose centre is O. Find radius r of in-circle.

C

48 cm
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Th T A1 SO YT Vg o STUR G0 & ad1 Sarsdl Wl 99H & | a7 39 956 I8
SRl o1 STITA & : S 21 A1 EITSU foh SHhl e aa SAE 1 AU 3 : 4 8 |

A right circular cylinder and a cone have equal bases and equal heights. If their curved
surface areas are in the ratio 8 : 5, show that the ratio between radius of their bases to
their heightis 3 : 4.

AABC 1 31 BC W X Th fog & | XM a7 XN a3l {51 AB @1 AC % SHI=R 36
bR Wid TT 8 foh AB &1 N AT AC 1 M W h1ed & | MN @91 CB 5@M W T & foerdt
2 | fag Hifse &6 TX2 = TB x TC.

X 1s a point on the side BC of AABC. XM and XN are drawn parallel to AB and AC
respectively meeting AB in N and AC in M. MN produced meets CB produced at T.
Prove that TX? = TB x TC

T ug_q
SECTION — C
T HEAT 13 T 22 Ik TAh I 3 3R k1 2 |

Question numbers 13 to 22 carry 3 marks each.

FMRid 2 H S H.H1. A1 a1et < 31 T Sften AB i oS 8 WAl B | foig A U1 B ™
i1 778 TRi- Y@ e fog P ot et 2 | AP <l o1waiTS ST hifg |

A

B
e 2
3HYdT
firg ST fop Fopeft amer faig & gt R et 18 et oY g SR A # |

In fig. (2) AB is a chord of length 8 cm of a circle of radius 5 cm. The tangents to the

circle at A and B intersect at P. Find the length of AP.
A

B
Hg. (2)
OR
Prove that the lengths of tangents drawn from an external point to a circle are equal.
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Toh U1 o BIEI AUT T1 Gl oh1 oralTsdl sha9l: 4 .41, TU16 H.HI. & | 1q Shifae b 3
e b 1 feirgal g 48 Buei H G <hi ST ATedl GRET 1 AFT 1 & |

T
T oFl ohl Y1 10 H.H. B | 38 F b GRS YT HA:Td b S b &F I AFHA F1d
Hif |

The short and long hands of a clock are 4 cm and 6 cm long respectively. Find the sum
of distances travelled by their tips mn 48 hours.

OR
The side of a square is 10 cm. Find the area between inscribed and circumscribed
circles of the square.

Toh TAMST oh1 TAT Shitore fweh! Yomd 6 9.1, 8 T.41, @1 10 9., & | R w s g
6t T e | Rt S et Frgt S e S

Construct a triangle with sides 6 cm, 8 cm and 10 cm. Construct another triangle

3
whose sides are 3 of the corresponding sides of original triangle.

FfaeTe TS TARTIREH & YA | T@&AT31 867 31 255 T HCF F1d I |
Using Euclid’s division algorithm find the HCF of the numbers 867 and 255.

3
afésin(A+2B)=32£amcos (A+4B)=0,A>B2aUTA+4B <90°dl A 94T B
T I |

3
If sin (A +2B) =32£and cos (A+4B)=0,A>B,and A +4B <£90° then find A and B.

Tort TmT=aR 9 0 afe 9T n 91 BT I 3n2 + Sn 9UT kST I 164 B, A1 k T qH J4
i |

In an A.P if sum of its first n terms is 3n% + 5n and its k™ term is 164, find the value of k.

T SR 924 1 U HH ThR o 524 H §ced oL SHhT AT EIT

E] 0-15 | 15-30 | 30-45 | 45-60 | 6075

TREWET 6 8 10 6 4
By changing the following frequency distribution ‘to less than type’ distribution, draw
its ogive.

Classes 0—15 | 15-30 | 30—-45 | 45-60 | 60—75

Frequency 6 8 10 6 4

27 12 it i g o ST o 3 gl A o |

3
Divide 27 into two parts such that the sum of their reciprocals is 20"

5 (0] ]
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Ffg fopell TTaE Qs o & SE— 3Nl & e (3, 2) T (1, 0) & YT GHI faehul

e g (2, —5) TR |EigwIRTd Ld &, i gl 311 3 fergati < fdemish 11 it |
e

G weh T Toreh 3 (x, 3), (4, 4) TUT (3, 5) &, 1 & 4 F THTS 7, Al x Fd I |

If coordinates of two adjacent vertices of a parallelogram are (3, 2), (1, 0) and
diagonals bisect each other at (2, —5), find coordinates of the other two vertices.
OR

If the area of triangle with vertices (x, 3), (4, 4) and (3, 5) is 4 square units, find x.

forg =hifv :
1 + tan®A _(1-tanA\2 =~
(1 + cotzA) B (1 - COtA) ~tan"A
T
HH 14 ST :
cos 58° sin 22° cos 38° cosec 52°

—— 5—
sin 32° © cos 68 '\ﬁ (tan 18° tan 35° tan 60° tan 72° tan 55°)
Prove that

1 + tan?A B (1 —tanA)z A
1 +cot?A) 1 —cotA) tan

OR
Evaluate
cos 58° sin 22° cos 38° cosec 52°
sin32° " cos 68° /3 (tan 18° tan 35° tan 60° tan 72° tan 55°)
gl —¢
SECTION-D

T AT 23 ¥ 30 T Tk T 4 3Hehi 1 8 |
Question numbers 23 to 30 carry 4 marks each.

Th AT Ueh FHTUTAT ol 10 TeIMH=H 1 SMfcedl SF H ¢dl 8 | T dlee] hl TS
20 9. B | 3Hh S0 a1 T Tl o T1dea™ sweer 36 W, @91 21 9 8110
Sfccdl 1 @ 1 HIMC ATG TIHH 31 T Jed T 42 Ufd 100 = 9.9, 81 | A7
R T 39 foam ford |

A man donates 10 aluminum buckets to an orphanage. A bucket made of aluminum is
of height 20 cm and has its upper and lowest ends of radius 36 cm and 21 cm
respectively. Find the cost of preparing 10 buckets if the cost of aluminum sheet is
¥ 42 per 100 cm?. Write your comments on the act of the man.

6
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g HITT Toh 21 THET TS o SR o1 ST 3eh! T Y1371 o STTITd b o
TR BT 8 |

Prove that the ratio of the areas of two similar triangles is equal to the ratio of the
squares of their corresponding sides.

m T n < fohd T o ToTq gk e
3x +4y=12
(Mm+n)x+2(m-n)y=5m— 1% INHd &I IEET & & |
For what values of m and n the following system of linear equations has infinitely
many solutions.
3x+4y =12
m+n)x+2(m-n)y=5m-1

o rferel w1 wTed, quT SgeTeh ST N ;

e

10 -20

20-30

30-40

40 - 50

50 - 60

60 —70

70 — 80

HTCIRAT

4

8

10

12

10

Find the mean and mode for the following data :

Classes

10 - 20

2030

30 —-40

40 - 50

50 - 60

60 — 70

70 — 80

8

10

12

10

4

2

Frequency 4
T |G U 1 | 20 Teh hl H&ATHI 4 Jfehd HIS T 8 | (YA IS T T HE&AT) 396 |
T h1S ATGTST THehTall T | STTIehdl ST ShitT, fob TiehTet 71T TS T shi T

(i) 3IMIERI

(i) HIH EER |

(iii) 3 ¥ 9F B dTell HE 3 |

g
52 w1 31 ATl 1 T I ) 1 STeuE, STy quT e g1 feu T | 9 arer Y Tl
ST=ST YR %l AT | SHH T Ueh U=AT HehTall T | WIRIshdt FTa <hifoTe foh febrett 1T o=
(i) THABI TR |
(ii) T Tl AGATE & |
(ili) T ESIHITR |

(iv) THIAME |
A box contains cards numbered from 1 to 20. A card is drawn at random from the box.
Find the probability that number on the drawn card is
(1) aprime number
(1) a composite number
(111) anumber divisible by 3
OR
The King, Queen and Jack of clubs are removed from a pack of 52 cards and then the
remaining cards are well shuffled. A card is selected from the remaining cards. Find
the probability of getting a card
(1) of spade
(11) of black king
(111) of club
(1v) of jacks

(0] ]
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T IS AT e {PTTS] Ueh i FTel o] IRl | 200 Tehaniiel Ie | 1 Hel HH
O o7 8 | AfG el =T 1 TSl 1 T O FTe ohl TS 9 10 TRenier/ der o & dl
ST {FTIFEA <l TTE T ShITTT |

HYAT
x 1 HH 314 HIMT :
_ 1111
2 btx a by 3%0,b#0,x#0
A faster train takes one hour less than a slower train for a journey of 200 km. If the
speed of slower train is 10 km/hr less than that of faster train, find the speeds of two
trains.

OR
Solve for x

1 1
=—+7+-, az0,bz0,x=0
a b x

T TRIE] o Y foig o1 Teh e o UIG fefrg | I=1 10 60° 8 qT 2 o ¥ forg &
TETE! o TG oh1 3TE-HA 10T 30° %1 & | AfG A ohl HaTs 50 HE 81 Al BTl hi HdTs T
FHIT |

YT
T 80 Ui, TS TEH o QHI R HAHA-HH FHH ATS ATel & &H ol 3¢ & | 3 a1 @l
19 TS o Ueh Toig ¥ WHI b TG o I=13H 101 A 60° 3N 30° 8 | WHI hl HaTS
3R @i ¥ foig 1 gfat 7 Hif |
The angle of elevation of the top of a hill at the foot of a tower is 60° and the angle of
depression from the top of tower to the foot of hill is 30°. If tower 1s 50 metre high,
find the height of the hill.

OR
Two poles of equal heights are standing opposite to each other on either side of the
road which is 80 m wide. From a point in between them on the road, the angles of

elevation of the top of poles are 60° and 30° respectively. Find the height of the poles
and the distances of the point from the poles.

30. §§9Q 3x% — 1523 + 13x2+25x—30%mﬂwmaﬁma&maw\/§w

3072

—\E@H

5 5
Obtain all zeroes of 3x* — 15x% + 13x? + 25x — 30 , if two of its zeroes are \/% and —\/%-
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